## CONTRACT AGREEMENT

KNOW ALL PERSONS BY THESE PRESENTS:

This AGREEMENT, made and executed this 17 MAR 2025, by and between:

The ILOILO SCIENCE AND TECHNOLOGY UNIVERSITY – LA PAZ, ILOILO CITY CAMPUS, a public institution of higher learning, organized and existing under Republic Act No. 10595, with office address at Burgos Street, La Paz, Iloilo City, Philippines, herein represented by its SUC Presidents III, DR. GABRIEL M. SALISTRE, JR., (hereinafter referred to as the "ISAT U");

and

WINTERFIELD MARKETING, with office address at Corner Valeria Extension De Leon Street, Magsaysay, Iloilo City, Philippines, herein represented by its President, MR. WALTER T. UY (hereinafter referred to as the "SUPPLIER)";

WHEREAS, ISAT U has programmed the PROCUREMENT OF CONSTRUCTION SUPPLIES AND MATERIALS - EPA with Project Reference No. ISAT U GOODS-2025-01-006;

WHEREAS, ISAT U, through its Bids and Awards Committee (BAC), posted the Invitation to Bid on the ISAT U and PhilGEPS website, as well as on the ISAT U Bulletin Boards, continuously for at least 7 days, starting November 8, 2024 to November 27,2024 as provided under Section 54.2.4 of Republic Act No. 9184 or otherwise known as the Government Procurement reform Act and its 2016 Revised Implementing Rules and Regulations (RA9184 and its 2016 RIRR), with an Approved Budget for the Contract (ABC) of One Million Seven Hundred Ninety Nine Thousand Five Hundred Eight Pesos and Fifty Centavos Only (PhP1,799,508.50), inclusive of applicable taxes, as indicated in Purchase Request No. PB-2025-016;

WHEREAS, in BAC Resolution No. 010 s. 2025 dated January 8, 2025, the BAC recommended to the Head of the Procuring Entity (HOPE) through the University President to award the contract to the SUPPLIER as the Lowest Calculated and Responsive Bid;

WHEREAS, on January 15, 2025, the University President signed the Notice of Award;

**NOW THEREFORE,** in consideration of the mutual covenants and conditions set forth herein, the parties agree as follows:

## **ARTICLE I**

(Included in the Agreement)

In accordance with RA 9184 and its 2016 Revised Implementing Rules and Regulations, the following documents shall form part of this Agreement:

- a. Philippine Bidding Documents (PBDs)
  - i. Schedule of Requirements
  - ii. Technical Specifications
  - iii. General and Special Conditions of the Contract
  - iv. Supplemental or Bid Bulletins, if any
- Winning Bidder's bid, including the Eligibility requirements, Technical and Financial Proposals, and all other documentary/statements submitted;
- c. Performance Security;
- d. Notice of Award of Contract;
- e. Other contract documents that may be required by existing laws and/or the

Procuring Entity concerned in the Bidding Documents. Winning bidder agrees that additional contract documents or information prescribed by the GPPB that are subsequently required for submission after the contract execution, such as the Notice to Proceed, Variation Orders, and Warranty Security, shall likewise form part of the Contract; and

f. RA 9184 and its 2016 RIRR, as amended

# ARTICLE II (Technical Specifications)

Item No.		Description/Brand	Qty	Unit	Unit Price	Total Price
1	Screw (repair)	Screw (Repair) - 1 1/2" Gypsum Screw, (for steel)	300	pcs	0.75	225.00
2	Impact Tools	Impact Wrench, 18V, Torque 200N-m, 340 RPM, Cordless w/ extra battery and charger Brand: MAKITA DTW190RF	1	set	41,500.0 0	41,500.00
3	Hammer	Rotary Hammer - 1000 W-1300W, 230V, 12-42mm Drill Bits – size Brand: MAKITA HR4002	1	pcs	77,610.0 0	77,610.00
4	Saw	Saw - Miter, Cut Off Saw, 10 inch, 150W-200Watts, 230V Brand: MPT MMC2503	1	pcs	10,100.0	10,100.00
5	Jig Saw	Jig Saw - 600W-750W, 230V Brand: MPT MJS6005	1	pcs	5,800.00	5,800.00
6	Riveter	Riveter - Sizes 1/8", 5/32", 3/16" Brand: STANLEY	2	pcs	620.00	1,240.00
7	Sealant	Sealant - Glass Sealant (Brown) BRAND: DOWSIL	10	tube	275.00	2,750.00
8	Sealant	Sealant - Glass Sealant (Clear) BRAND: V TECH	10	tube	225.00	2,250.00
9	Tacker	Tacker - Gun Tacker wire T30, 10mm-15mm	1	boxes	210.00	210.00
10	Blade	Hack Saw Blade BRAND: LENOX	25	pcs	45.00	1,125.00
11	Knife	Scoring Knife	5	pcs	170.00	850.00
12	Hammer	Claw Hammer with fiber glass handle BRAND: CRESTON	5	pcs	350.00	1,750.00
13	Box	Chalk Line Box	5	pcs	125.00	625.00
14	Ruler	Pull - Push Ruler, 8 meters-10 meters BRAND: STANLEY 8M	5	pcs	480.00	2,400.00
15	Ruler	Pull - Push Ruler, 5 meters BRAND: STANLEY	5	pcs	300.00	1,500.00
16	Triangular Square	Triangular Square,2ft BRAND: STANLEY	5	pcs	600.00	3,000.00
17	Level Tool	Level Bar, 40 inches, Aluminum BRAND: CRESTON	5	pcs	370.00	1,850.00
18	Level Tool	Plumb Bob,200 grams BRAND: CRESTON	5	pcs	110.00	550.00
19	C-Clamp	C-Clamp, 12 inches	4	pcs	765.00	3,060.00
20	Pliers	Electric Plier, 8 inches, 300 V insulation rating BRAND: C-MART	5	pcs	480.00	2,400.00
21	Pliers	Electric Plier, Long Nose 8 inches, 300 V insulation rating  BRAND: C-MART	5	pcs	260.00	1,300.00
22	Nylon String	Nylon String, 2-3 mm	30	rolls	480.00	14,400.00
23	Tape	Mesh Tape, 250mm	10	rolls	80.00	800.00
24	Glue	Wood Glue. 500 grams BRAND: STIKWEL	20	can	170.00	3,400.00
25	Metal Furring	Metal Furring - 0.4mm   BRAND: JEAMAX	200	pcs	185.00	37,000.00
26	Spray Gun	Electric Spray Gun, 1000ml, 230V, 500 W-800W BRAND: POWERHOUSE	1	pcs	1,975.00	1,975.00
27	Router Bits	Router Bit Set, 1/4 shank 5pcs per set BRAND: POWERHOUSE	5	sets	1,375.00	6,875.00
28	Paint Brush	Paint Brush - 2" Fine Bristles BRAND: MASAKI	100	pcs	30.00	3,000.00
29	Drill Bit	Counter Sink Bit, 4pcs per set BRAND: CRESTON	5	sets	300.00	1,500.00
30	Screw	Screw - 1 1/4" tekscrew (wood)	300	pcs	1.30	390.00
31	Thread Sealer	Thread Sealer - 3/4", Teflon Tape BRAND: TOMBO	60	pcs	35.00	2,100.00

32	Compressor	Air Compressor - 1/4 HP, 230V, 1 cylinder, 70psi, 36 liters	1	unit	9,000.00	9,000.00
33	Steel Cutting Disc	BRAND: VESPA  Steel Cutting disc- 4"Ø (super thin), 10 pcs per box BRAND: TAILIN	10	boxes	320.00	3,200.00
34	Screw Driver	Screw Driver Set,4 pcs per set, heavy duty BRAND: STANLEY	5	sets	620.00	3,100.00
35	Chisel	Chisel, Black, pointed, heavy duty BRAND: CRESTON	5	sets	495.00	2,475.00
36	Planer	Iron Wood Planer, 163mm manual	4	pcs	450.00	1,800.00
37	Machine	Rigid Fusion Machine, 1/2"-1	1	unit	1,630.00	1,630.00
38	Machine	Rigid Fusion Machine, 1/2"-2"	1	unit	2,150.00	2,150.00
39	Cutter	PPR Pipe Cutter, small BRAND: COBRA	4	pcs	675.00	2,700.00
40	Cutter	PPR Pipe Cutter, big BRAND: COBRA	4	pcs	975.00	3,900.00
41	Welding Rod	Welding Rod, 2.5, Special 6013 BRAND: WIPCORD	25	kg	170.00	4,250.00
42	Cutting Disc	Cutting Disc, 4" BRAND: TAILIN	150	pcs	32.00	4,800.00
43	Screw	Black Screw Wood, 1 1/2"	250	pcs	0.75	187.50
44	Screw	Black Screw Wood, 1"	300	pcs	1.00	300.00
45	Screw	Black Screw Wood, 2"	300	pcs	1.25	375.00
46	Screw	Tex Screw 1 1/2" (steel)	500	pcs	1.30	650.00
47	Screw	Tex Screw 2" (steel)	500	pcs	1.50	750.00
48	Paint Brush	Baby Roller Paint Brush - 4" BRAND: HI-TECH	50	pcs	45.00	2,250.00
49	Paint Brush	Paint Brush, 2" BRAND: MASAKI	100	pcs	30.00	3,000.00
50	Hose	Level Hose, Green, 3/8"	50	meter	35.00	1,750.00
51	Tile Adhesive	Tile Adhesive cement, 20kg per bag BRAND: BAUFIX	10	bags	305.00	3,050.00
52	Sealant	Sealant - Elastoseal BRAND: ELASTOSEAL	5	L	638.00	3,190.00
53	Adhesive	No More Nails, All-purpose grab adhesive, 200ml BRAND: BOSTIK	15	pack	150.00	2,250.00
54	Adhesive	Contact Cement BRAND: RUGBY	2	gallon	970.00	1,940.00
55	Drill Bit	Steel Bit Metal BRAND: DORMER	5	sets	8,700.00	43,500.00
56	Drill Bit	Steel Bit 1/8",10 pcs/box BRAND: DORMER	5	boxes	830.00	4,150.00
57	Drill Bit	Masonry Bit, 3mm-10mm BRAND: IRWIN Masonry Bit, 5 mm	5	sets	1,515.00	7,575.00
58	Drill Bit	BRAND: IRWIN  Diamond Cutting Disc, 4"(thick)	5	sets	100.00	500.00
59	Cutting Disc	BRAND: BOSUN BLUE Plastering Trowel, plastic/pvc handle	5	pcs	160.00	800.00
60	Trowel	BRAND: CRESTON  BrickLaying Trowel, 7" wood handle	5	pcs	160.00	800.00
61	Trowel	BRAND: CRESTON	10	pcs	110.00	1,100.00
62	Knife	Putty Knife	10	pcs	15.00	150.00
63	Filler	Glasurit Body Filler   BRAND: GLASURIT	10	L	230.00	2,300.00
64	Filler	Sure-Tite Plastic Wood Filler BRAND: SPHERTITE	10	L	240.00	2,400.00
65	Door Knob	Door Knob - twist lock, Heavy Duty BRAND: UK MASTER	50	pcs	520.00	26,000.00
66	Wheels	Heavy Duty Wheel 8" for scaffolding with lock	10	pcs	1,120.00	11,200.00
67	Wrench	Close/Open Wrench (combination) BRAND: SK-TOOLS	2	sets	3,600.00	7,200.00
68	Tiles	Tiles60m x .60m Synthetic Granite Tiles (beige) BRAND: UNO	50	pcs	185.00	9,250.00
69	Cabinet Accessory	Magnetic Cabinet Catches, small	25	pcs	15.00	375.00
70	Cabinet Accessory	Cabinet Handle, Single Screw, round type, wood	30	pcs	20.00	600.00
71	Grinding Disc	Grinding Stone Disc   BRAND: TAILIN	8	pcs	36.00	288.00
72	Grinding Wheel	Wire Wheel, 4"   BRAND: POWERHOUSE	5	pcs	150.00	750.00
73	Grinding Disc	Flap Disc, 60 thickness	8	pcs	120.00	960.00

MS. PAMELA FAMMY F. UY Authorized Representative

MR. WALTERY UY

GABRIEL M. SALISTREJR., PEE, DIT SUC President III)

RUSS ALLEN B. NAPUD, DIT

VP for Administration and Finance

SAMMY A. DATTAO, PhD-TM Director, PDAS

74	Grinding Disc	Cloth Buffing Disc, 4"	10	pcs	80.00	800.00
75	Jig Saw	Jigsaw Blade Wood, #10 BRAND: MAKITA	10	pcs	85.00	850.00
76	Jig Saw	Jigsaw Blade Metal, #1 BRAND: MAKITA	2	pcs	65.00	130.00
77	Adhesive	Marine Epoxy Adhesive Set A and Set B, 1 Liter BRAND: EL KAPITAN	4	sets	646.00	2,584.00
78	Tiles	Tiles40m x .40m Vetrified Floor Tiles, white BRAND: MARIWASA ROMANA WHITE	100	pcs	85.00	8,500.00
79	Ероху	Epoxy Primer, gray BRAND: SPHERO	20	gallon	1,190.00	23,800.00
80	Ероху	Epoxy Primer, White BRAND: REM	20	gallon	895.00	17,900.00
81	Epoxy Reducer	Epoxy Reducer BRAND: PARALUX	10	gallon	540.00	5,400.00
82	Lacquer	Lacquer Thinner BRAND: CES	5	gallon	380.00	1,900.00
83	Paints	Paint, Enamel, Royal Blue BRAND: BOYSEN	20	gallon	795.00	15,900.00
84	Paints	Paint, Traffic Paint, Yellow BRAND: DAVIES	10	gallon	1,105.00	11,050.00
85	Paints	Paint, Enamel, Black BRAND: BOYSEN	20	gallon	695.00	13,900.00
86	Paints	Paint, Enamel, Chocolate Brown BRAND: BOYSEN	20	gallon	716.00	14,320.00
87	Paints	Paint, Tinting Color, Burnt Amber BRAND: BOYSEN	2	Liter	440.00	880.00
88	Paints	Paint, Tinting Color, Toluidine Red BRAND: BOYSEN	5	Liter	465.00	2,325.00
89	Paints	Paint, Latex, Raw Sienna BRAND: BOYSEN	30	Liter	140.00	4,200.00
90	Paints	Paint, Latex, Thalo Blue BRAND: BOYSEN	10	Liter	125.00	1,250.00
91	Paints	Paint, Latex, Toulidine Red BRAND: BOYSEN	5	Liter	130.00	650.00
92	Paints	Paint, Latex, White, Semi-Gloss BRAND: BOYSEN	15	pails	3,290.00	49,350.00
93	Paints	Paint, Latex, White, Gloss BRAND: BOYSEN	10	pails	3,290.00	32,900.00
94	Paints	Paint, Enamel, Flat White BRAND: BOYSEN	20	gallon	815.00	16,300.00
95	Sealer	Sanding Sealer BRAND: BOYSEN	10	gallon	820.00	8,200.00
96	Sandpaper	Sanding Sheet #1000 BRAND: 3M	10	pcs	20.00	200.00
97	Sandpaper	Sanding Sheet #150 BRAND: 3M	30	pcs	20.00	600.00
98	Top Coat	Polyurethane Top Coat BRAND: HUDSON	3	gallon	1,685.00	5,055.00
99	Wood Preservative	Wood Preservative - Solignum, clear BRAND: SOLIGNUM	2	gallon	2,335.00	4,670.00
100	Toilet Fittings	Urinal Flush Valve BRAND:IT	25	units	1,395.00	34,875.00
101	Sanding Sheet	Sanding Sheet #2000 BRAND: BUSON	10	pcs	20.00	200.00
102	Avaition Snip	Avaition Snip, straight BRAND: CRESTON	5	pcs	320.00	1,600.00
103	Moulding	Lattice Moulding 1/4" x 1" x 8ft	30	pcs	62.00	1,860.00
104	Moulding Welding	Lattice Moulding 1/4" x 2" x 10ft Magnetic Welding Holder	30	pcs	105.00	3,150.00
105	Holder	BRAND: CRESTON	10	pcs	200.00	2,000.00
106	Wood	Wood - 1in x 2in x 12in s4s BRAND: ECOFOR	50	lengths	151.00	7,550.00
107	Nail Gun	Electric Brad Nailer BRAND: MPT	1	pcs	2,130.00	2,130.00
108	Pipe Fittings	Pipe Fittings - 90° Elbow, PPR, 50mm BRAND: TUNNY	25	pcs	72.00	1,800.00
109	Pipe Fittings	Pipe Fittings - 90° Elbow, PPR, 40mm BRAND: TUNNY	25	pcs	44.00	1,100.00
110	Pipe Fittings	Pipe Fittings - 90° Elbow, PPR, 32mm BRAND: TUNNY	25	pcs	40.00	1,000.00
111	Pipe Fittings	Pipe Fittings - 90° Elbow, PPR, 20mm BRAND: TUNNY	25	pcs	16.00	400.00

MS. PAMELA FAMMY F. UY
Authorized Representative

MR. WALTER T. UY

GABBIEL M. SALISTRE JR., PEE, DIT SUC Presidenty!!

RUSS ALLEN B. NAPUD, DIT

VP for Administration and Finance

SAMMY A. DAPRAO, PhD-TM Director, PDAS

112	Pipe Fittings	Pipe Fittings - Adoptor with female thread, PPR, 32mm x1"   BRAND: TUNNY	15	pcs	140.00	2,100.00
113	Pipe Fittings	Pipe Fittings - Adoptor with female thread, PPR, 25mm x 1/2"  BRAND: TUNNY	15	pcs	72.00	1,080.00
114	Pipe Fittings	Pipe Fittings - Adoptor with female thread, PPR, 20mm x 1/2" BRAND: TUNNY	15	pcs	70.00	1,050.00
115	Paints	Polyurethane Reducer BRAND: HUDSON	2	gallon	696.00	1,392.00
116	Pipe Fittings	Pipe Fittings - Socket/Coupling, PPR 50mm BRAND: TUNNY	15	pcs	40.00	600.00
117	Pipe Fittings	Pipe Fittings - Socket/Coupling, PPR 40mm BRAND: TUNNY	15	pcs	28.00	420.00
118	Pipe Fittings	Pipe Fittings - Socket/Coupling, PPR 32mm BRAND: TUNNY	15	pcs	20.00	300.00
119	Pipe Fittings	Pipe Fittings - Socket/Coupling, PPR 25mm BRAND: TUNNY	15	pcs	16.00	240.00
120	Pipe Fittings	Pipe Fittings - Socket/Coupling, PPR 20mm BRAND: TUNNY	15	pcs	8.00	120.00
121	Pipe Fittings	Pipe Fittings - Coupling, Reduction, Internal/External PPR, 40x25mm BRAND: TUNNY	25	pcs	20.00	500.00
122	Pipe Fittings	Pipe Fittings - Coupling, Reduction, Internal/External PPR, 32x25mm	25	pcs	20.00	500.00
123	Pipe Fittings	Pipe Fittings - Coupling, Reduction, Internal/External PPR, 32x20mm BRAND: TUNNY	25	pcs	20.00	500.00
124	Pipe Fittings	Pipe Fittings - Coupling, Reduction, Internal/External PPR, 25x20mm BRAND: TUNNY	25	pcs	12.00	300.00
125	Pipe Fittings	Pipe Fittings - 90° Elbow, PPR, 63mm BRAND: TUNNY	25	pcs	144.00	3,600.00
126	Pipe	Pipe - 20mm Ø x 4.0m PPr Pipe Pn10 BRAND: TUNNY	25	pcs	220.00	5,500.00
127	Pipe	Pipe - 25mm Ø x 4.0m PPr Pipe Pn11 BRAND: TUNNY	25	pcs	320.00	8,000.00
128	Pipe	Pipe - 32mm Ø x 4.0m PPr Pipe Pn12 BRAND: TUNNY	25	pcs	550.00	13,750.00
129	Pipe	Pipe - 40mm Ø x 4.0m PPr Pipe Pn13 BRAND: TUNNY	25	pcs	760.00	19,000.00
130	Pipe	Pipe - 50mm Ø x 4.0m PPr Pipe Pn14 BRAND: TUNNY	25	pcs	1,160.00	29,000.00
131	Pipe	Pipe - 63mm Ø x 4.0m PPr Pipe Pn15 BRAND: TUNNY	25	pcs	1,800.00	45,000.00
132	Cement	Cement - Portland Cement BRAND: FEDERAL TYPE 1	100	bags	235.00	23,500.00
133	Plywood	Marine Plywood 1/2  BRAND: TOP FOREST	80	pcs	960.00	76,800.00
134	Plywood	Marine Plywood 1/4  BRAND: TOP FOREST	80	pcs	520.00	41,600.00
135	Plywood	Marine Plywood ¾  BRAND: TOP FOREST	80	pcs	1,535.00	122,800.00
136	Flap Disk	Flap Disk - 4 inØ #80	20	pcs	120.00	2,400.00
137	Construction	Termite Killer - 4L BRAND: SOLID GUARD	5	Liter	1,390.00	6,950.00
138	Angle Bar	Angle Bar - 5mm x 1 in x 6.0 angle bar	120	pcs	555.00	66,600.00
139	Bolt	Dyna Bolt 10mmØ	20	pcs	23.00	460.00
140	Bolt	Dyna Bolt 12mmØ	20	pcs	42.00	840.00
141	Ероху	Concrete Epoxy (Gal) HV BRAND: PIONEER	8	sets	4,257.00	34,056.00
142	Faucet	Faucet (Still Kitchen Faucet), lavatory goose neck, stainless  BRAND: CRESTON	25	pcs	835.00	20,875.00
143	Faucet	PVC Plastic Faucet, 1/2" x 6 inches, wall, good quality   BRAND: JOPEX	30	pcs	175.00	5,250.00
144	G.I Pipe	G.I Pipe - 1inØ, G.I Pipe Sch 40	50	lengths	874.00	43,700.00
145	Glass Cutter	diamond glass cutter 178mm, heavy duty BRAND: JAPAN	10	pcs	380.00	3,800.00
146	Mask	Auto Darkening welding mask HD\ BRAND: CRESTON	1	unit	1,600.00	1,600.00
147	Prepainted plain Sheet	Prepainted plain sheet44mm x 4' x 8', color: green	10	sheets	790.00	7,900.00
148	Prepainted plain Sheet	Prepainted plain sheet44mm x 3' x 8', color: green	10	sheets	790.00	7,900.00
149	Prepainted plain Sheet	Prepainted plain sheet5mm x 4' x 8', color: green	10	sheets	945.00	9,450.00
150	Screw	Screw - 1 1/1" tex screw (steel)	300	pcs	1.30	390.00

SUC Presidentill

	TOTAL BID AMOUNT				MOUNT	PhP1,407,632.50
153	Wood	Wood - 2in x 6in x 12in s4s BRAND: ECOFOR	50	lengths	920.00	46,000.00
152	Wood	Wood - 2in x 3in x 12in s4s BRAND: ECOFOR	50	lengths	470.00	23,500.00
151	Wood	Wood - 2in x 2in x 12in s4s BRAND: ECOFOR	50	lengths	298.00	14,900.00

# ARTICLE III

(Delivery Period)

The SUPPLIER shall perform its obligation as specified in the Agreement within THIRTY (30) calendar days upon receipt of the Notice to Proceed.

#### **ARTICLE IV**

(Contract Amount)

In consideration for the sum of One Million Four Hundred Seven Thousand Six Hundred Thirty-Two Pesos and Fifty Centavos Only (Php1,407,632.50), or such other sums as may be ascertained, the SUPPLIER Agrees to the PROCUREMENT OF CONSTRUCTION SUPPLIES AND MATERIALS - EPA in accordance with its Bid.

The ISAT U agrees to pay the above-mentioned sum in accordance with the terms of this Agreement.

#### **ARTICLE V**

(Warranty of Goods)

The **SUPPLIER** guarantees that all materials it will supply under this Agreement are brand new, free from defects, and strictly in accordance with the Technical Specifications. The provision under Section 62.1 on warranty security shall be observed.

#### **ARTICLE VI**

(Liquidated Damages)

If the SUPPLIER refuses or fails to satisfactorily complete the obligation within the specified contract time, plus any time extension duly granted, and is in default under the Agreement, the SUPPLIER agrees to pay ISAT U for liquidated damages (LD) in an amount equal to one tenth (1/10) of one percent (1%) of the cost of the unperformed portion for everyday of delay. ISAT U shall have the option to deduct the liquidated damages from payments or any money due or which may become due to the SUPPLIER under this Agreement and/or collect such liquidated damages from the retention money or other securities posted by the SUPPLIER whichever is convenient to ISAT U. Once the cumulative amount of liquidated damages reaches ten percent (10%) of the amount of this Agreement, ISAT U may rescind this Agreement, without prejudice to other courses of action and remedies open to ISAT U.

## **ARTICLE VII**

(Settlement of Disputes)

The settlement of disputes or differences of any kind whatsoever that arises between the parties in the connection with the implementation of the Agreement shall be settled in accordance to Rule XVIII (Settlements of Disputes) under the 2016 RIRR of RA 9184.

# **ARTICLE VIII**

(Miscellaneous Provisions)

The parties warrant that they have full power and authority to represent their respective agency/office/entity.

The SUPPLIER shall facilitate this Agreement's notarization and bear its cost.

**IN WITNESS WHEREOF**, the parties hereto have caused this Agreement to be executed in accordance with the laws of the Republic of the Philippines on the day and year first above written.

By:

ILOILO SCIENCE AND TECHNOLOGY UNIVERSITY (ISAT U)

WINTERFIELD MARKETING (SUPPLIER)

By:

GABRIEL M. SALISTRE, JR., PEE, DIT

SUC President III

AR WAI TER T LIV

Proprietor

WITNESSETH

RUSS ALLEN B. NAPUD, DIT

VP for Administration and Finance

MS. PAMELA FAMMY F. UY Authorized Representative

SAMMY A. DATTAO, PhD-TM

Director, PDAS

Republic of the Philippines			
: S			
A	CKNOWLEDGMI	ENT	
BEFORE ME, this day of personally appeared the following personal their identities, to wit:	f MAR 2025	_, in their identificati	
	Government ID	Place Issued	Date Issued
1 DR. GABRIEL M. SALISTRE, JR.	ISAT U ID No.: 04-0232	Iloilo City	August 5, 2023
2 MR. WALTER T. UY	PASS PORT NO.: P944 5791B	110ilo City	4 19 2022

known to me to be the same persons who executed the foregoing instrument and they acknowledged that the same are their free act and deed as well as of the institution / agency that they represent.

This instrument, which refers to a **Procurement of Construction Supplies and Materials – EPA**, consisting of <u>8</u> pages including the page on which this acknowledgment is written, has been signed on the left margin of each and every page thereof by the parties and their witnesses and sealed with my notarial seal.

**IN WITNESS WHEREOF**, I have hereunto set my hand and affixed my notarial seal on the day, year, and place above written.

 Doc.
 118

 Page
 75

 Book
 12

 Series of
 77

TARW PUBLIC FOR THE CATY AND PROVINCE
OF ILIGING UNTIL DECEMBER 31, 2025
IBP VO. 492367, 1/2/2025, PAS IS GITY
PIR NO. 8795939, 1/2/2025, ILIO LOCITY,
NOT. REG. NO. 14, ROLL NO. 25535
MOLE VIII UNTIL 4/14/2028, NO. 0013686.
TIN 117-355-747

MEZZANINE FLOOR RED PLAZA BUILDING
AMBASA ST. PLOILO CITY (2000) 326-364.